State of Aadhaar Survey Questionnaire 2017-18: Bengali

Field Question Answer
intronote SoA I 7 Tl Wl L DA @ TS st i afers ==
consentnote T QFT SAEFTSAAET A ST AROFLF SIS TETATZT QFBI NG s=el AL S fKfenw a1 fomw aw aq

TSR OITeN LA 2ATF | TN SIS BB OTF SR @5 T2 O[T FAMG| S SR 2 SN @57 (Fg G|
IR SGORAATE AR S SR TS [ 410 a2 O 161 5 SN [@eid S0 G| S AAF 20
FIEG ST SR QBT FRATE S AL SANE TGO TR 1ol AR a8 ANSH| Bl F200 80-8¢ 16 aAorl
ST ST 2 AT @8 TOO Gl SNl (S AT AT A SN SIS G2 FRF AT FAM QBT

A OO FT JARSI F1 Tl
consent (required) 1.31f7 @8 TN TH0FZ FAO SHGF? 1 ==
0 =
99 Yuud fite wifogs
section1 SRR AF oI

Question relevant when: ${consent} = 1

num_hh (required) 2.93 SRR FOC EI<F A5 0, T o 12 T A R T3 F0AF Q1 T 47 98 BTG (200 G I (Foma
FLYE?
[FowR fine @ifsgr: 99]
Response constrained to: .>0

name_fm (required) 3. SRR AR A1 672
[E9ws e wieg: 9]
gender (required) 4 sifsrzR o feeer 72 1 s
2 =fzen
3 oig fanger
99 Tued fits Tfeesw
age (required) 5. SRR TR T F07?

[@f 71: -999] [Fow7 fie @ifpe<: 99]
Response constrained to: .>=0 or .=-999

relation_hh (required) 6. 5RRMFR TR ALY TOOIATOR AT (5?2 1 feeE
2 oot [ =@
3 et/ *mfs
4 T
5 oA
6 T/ eEAy
7 ooR ] GINE
8 IR/l
9 oferlt/ Fm
15 wrsfar
16 @rZe
10 =t
11 =ity
12 =ifs
13 e
14 frome
99 Tgwx e wifmg
-999 wifwr =1

other Other
relation_hh_other Specify other.
Question relevant when: selected(${relation_hh}, ‘other’)
education (required) 7 SRR AR RO o] <F 2 1 wffeme
2 frfeme
3 sl (5 SERE)
4 T (6-8)
5 =N (9-10)
6  fifes oefa (11-12)
7
8

o
TSR
99 Tuwd frrs wifmg
-999 wrify
mobile (required) 8. AR ST < TS t2hleT ©g? 1 ==
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aadhaar_fm (required)

aadhaarerror_fm (required)

errorquestions

aadhaaret_fm (required)

aadhaaret_fm_other (required)

errorname (required)

errorname_other

erroraddress (required)

erroraddressother (required)

errordob (required)

errordobother (required)

errorwhy (required)

errorwhy_other

aadhaar_rectifytry (required)

9.5RRNFR IR 16 @6 SR FToF @mE?

10. AT SR ST F F G @Me?

Question relevant when: ${aadhaar_fm} = 1

faeter 3: 2w sperereN
Question relevant when: ${aadhaarerror_fm} = 1

11.=n41F Fwd F 4713 97 B @ime?
o [t g
Question relevant when: ${aadhaarerror_fm} = 1

SR SR
Question relevant when: selected( ${aadhaaret_fm}, 98)

12 9157 1 6 ga?
AFTT [NIFIEN FFT
Question relevant when: selected( ${aadhaaret_fm}, 1)

Specify other.
Question relevant when: selected(${errorname}, ‘other’)

13. 95T foia <5 gar?
ST IO T
Question relevant when: selected( ${aadhaaret_fm}, 2)

SR SR T
Question relevant when: selected( ${erroraddress} , 98)

14 5= T Sifr i ga?

Question relevant when: selected( ${aadhaaret_fm},3)

Question relevant when: selected( ${errordob} , 98)
15. 7T 0 T SR ST FIO G ME?

Question relevant when: ${aadhaarerror_fm} = 1

Specify other.
Question relevant when: selected(${errorwhy}, ‘other’)

16. 5o GaT AL 217 (HHBT FLEA?

0
99
-999
1
0
99
-999
1
0
99
-999

-

N o g A~ W N

99
-999

1
2
98
99
-999

other

-

A ON

99
-999

99
-999

other

o
Gifel A1/ T 718
=1

a

T AT/ A 8
==

ar

GIfeT =TT/ A 18

Gl ol
fangsr

BISIGRI
FRAET @ I
SR SR A
fey 1T

TR G [ T G A
@ A
SRR GLEE Y T
T R

Other

T/ ST A1
R/ T

[EZoisai
T G
S R

o firet

& [T
TS [T

G e
ST S
T WS

VR [ TR 6T @fea
SEUg

G TS TEE

wifer =

Other
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correction (required)

aadhaar_paymentet (required)

aadhaar_paymentetrs (required)

adupdaters_awareness (required)

voteridcard (required)

voteridcard_other

checkonlist

vidverify (required)

vidverify_other

voterid_errors (required)

vid_et (required)

vid_et_other (required)

vid_erectifytry (required)

vid_erectifysuccess (required)

noaadhaar_quest

noaadhaar_try (required)

Question relevant when: ${aadhaarerror_fm} = 1

179 f<F A4 21 TR?

Question relevant when: ${aadhaar _rectifytry} = 1

18. & T F= Gl < s Bl o wrafeet 2

Question relevant when: ${correction} = 1

19. 915N F© BIF e erafeer?
[ 1/ 0T i -999] [Goes fre wif~pe<r: 99]
Question relevant when: ${aadhaar_paymentet} = 1

Response constrained to: .>0 or .=-999
20.UIDAI @31 fFw&f*<et v@ra, =11, f5<FI1 SOt S Snsies F14 Gl S¢ B @i it =31 w1 @8 s fF ensifer
g Gi=?

Question relevant when: ${aadhaar_paymentet} = 1
21 <o < rele wiEfe Fioy wig?

Question relevant when: ${age} >17

Specify other.
Question relevant when: selected(${voteridcard}, ‘other’)

22 SRR Gl friIeT © @8 qEfFed A ST Sifer<rs ey el ©f =618 #5011
Question relevant when: ${age} >17 and ${voteridcard} =1

2321618 Fg=1 = I SIS 2A=F

Question relevant when: ${voteridcard} = 1

Specify other.
Question relevant when: selected(${vidverify}, ‘other’)
24 ST TSIEE SI1ET FIUR Il Oe ©hg?

Question relevant when: ${voteridcard} = 1

25. <51 TSBIR 8T F1Ug] @ fF 4R oo ig?

Question relevant when: ${voterid_errors} = 1

SR SR T
Question relevant when: selected( ${vid_et} , 98)
26. <111 5 O 5% =11 (5B T ?

Question relevant when: ${voterid_errors} = 1

27 <15 <5 STEReTeE Qe AL FA0S (STAEA?

Question relevant when: ${vid_erectifytry} = 1

faeter 2: wiferigfee
Question relevant when: ${aadhaar_fm} = 0
28. <9 5 @6 ouia FI0H G B! FAE?

Question relevant when: ${aadhaar_fm} = 0

0 =
99 Tuwd firs wfegw
-999 ey AT / T T8
1=

0

99 Taed s wfmes
-999 I AT/ A TR
1=

0 =

99 Tuwd firs wifg
-999 Grifey A / AT T2

1 ==
0 =
99 TuwH fis wfpe
1=
0 =
2 bR fRfs g aF B
OB ey 18
99 Tuwd frrs wifpg
-999 wifer At

other Other

1o

0 =

99 Tuwd frrs wifpg
other Other

1=

0

99 Tuwd firs wfmgw
-999 Tify T/ W 8

1A

2 o

3 oo oifay
4 fangsr

5 =

6 = A

7 A a7 "

98 S CIEEY T
99 Tuox fite wIEes

-999 wrifw
1=
0 =

99 Gued firts wifmgE
-999 rifey A / WA T8
1=

0

99 Tgud fits wifegw
999 Trifer T / W 178

1 ==, g s e Fog
@ AT
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2 =l Oy aftw g Afaese
FIUR QT ATST

0

99 Tuwd e wifegE

999 TIfer AT/ W T

other Other

noaadhaar_try_other Specify other.
Question relevant when: selected(${noaadhaar _try}, ‘other’)

noaadhaar_why (required) 29.1F SNty @B wmnHrE o o o ? 1 oy AnEieaE ohiE
Question relevant when: ${noaadhaar try} = 1 FR NfIGF© FATS A A

2 of e e R

TS T Gfel A0
3 e e AfgEe
9 NI FIE SR
loE]

4 OISR QO / MU e
5 e fargst e
6 RO WM o[ @ 12F
far 1
7 SN OO G
8 oIyl e
T e e e
F
99 o fite wIEes
-999 wifa =t
other Other
noaadhaar_why_other Specify other.

Question relevant when: selected(${noaadhaar_why}, ‘other’)

noaadhaar_when (required) 30. U AT @B SR FNOIF T SN FLATRET? 1 ofS SMAF S
Question relevant when: ${noaadhaar _try} = 2 2 1-2 S @I
3 3-6 = @er
4 7-12 31 @I
5 1-2 Jx @met
6 2= wmer
99 Tued fite wfees
-999 W TS
noaadhaar_whynotry (required) 317 STy A B SR F1OF 15100 AAGHS F 1?2 1 SR FERFE FAe
Question relevant when: ${noaadhaar _try} = 0 TRGHS TR 2

2 S AFET AR

3 wnfy qEfEwere e, @
A A1 A0 & 7 e
S BIS 1

4 =ity STenEfeass /
MESIISE OIS RIS
G G (TGt
B @2 SR FFT
FoAIin) 19T TS BIS

5 ity egerfeawns /
MESIISE OIS RIS
TerIeEIER<E WL (AT, <5,
TSR, TS =Rl o)
Glol F BIZ A

99 Tuwd e wifEgE

other Other
noaadhaar_whynotry_other Specify other.

Question relevant when: selected(${noaadhaar_whynotry}, ‘other’)

ISEREROE

Group relevant when: ${consent} = 1

aadhaar_etfixease (required) 32,5 QOIS : 5o STEFL FRACEA T AT SN SR FIOF G AATLN FLAE: AT ORFFSIE, SR ST 2 wEG
TR G AL F219 sV fof® Fo e a1 Fo Foa? 3 frwEE
ST [T ST 4 =
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adetprocessease (required)

adetprocessease_other

adetprocessdifficulty (required)

adetprocessdifficulty_other

noadrectifywhy (required)

noadrectifywhy_other

noadsuccessrectifywhy (required)

Question relevant when: ${correction_fm1} = 1

33.HTTE AR Gl SRR &l SRAE SR Gl 28 ?

Question relevant when: ${aadhaar_etfixease} =2

Specify other.
Question relevant when: selected(${adetprocessease}, ‘other’)
34, 5T FAR Gl SRR (&l SIA(TE SR Gl F5w?

Question relevant when: ${aadhaar_etfixease} =4

Specify other.

Question relevant when: selected(${adetprocessdifficulty}, ‘other)
35. 9L TOOINTS: S1#(f] TTEa FATRH T SIS SR SRR FI0R F [5F TR (BB T ol 1ol gat f5F

T HHBT FE(T?

Question relevant when: ${aadhaar_rectifytry fm1} = 0

Specify other.

Question relevant when: selected(${noadrectifywhy}, ‘other’)

36,51 TOOAVTS!: S5 ST FTATRH T2 ST SR ST FIAR G AL TR G2l HeRal 11 (ool SA1911e] GBS

5F 2121 Gef s7pe fereret 12

Question relevant when: ${correction_fm1} = 0

99 Tuwd fire wifeg

SRS / SNTE R

2 FB M FS
TRORE T AT e

3 wlfeergfees B 4
=< few

4 =S I (e S 2@

99 Tygwx e wifeg

-999  if =TT / W =8

other Other

1 OfaFgies / Senes &
oS ST faet

2 S FE ARG A
o5

3 @ A et e
B
T AR e Al

5 EE ¥ wiee fea; e
O BUHfeE

6 SN SR FIOH ATE
TR G S G e
e

99 Tuox fite wIEes

-999  rIfe A / W TR

other Other

1 et ety a1 enfs = o<
FAE A

2 =iy FroRfe e e
Bt
T

4 =iy @B To FUg TR
Gl OISR TR BT AT

99 Tywa e wifeg

-999 @ifer A1 / W 718

other Other

1 =ify aft foF Fare asfe

2 OB AL TR ol
ST SR T R
1 ok Fare s =1 e

4 R AL FAE Gl

5 N SRR FE 1A
e = aff 2= @i oL
2 B

6  wIfY @AV FEE g
QAT FTOF &

99 Tgwd firs wifegw
-999 if =TT / W 8
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other Other
noadsuccessrectifywhy_other Specify other.
Question relevant when: selected(${noadsuccessrectifywhy}, 'other’)
address 37 sifmaa S 52
districts (required) ot

N

Bankura

Hooghly
Jalpaiguri
Murshidabad
Purba Bardhaman

Purba Medinipur

N o g b~ W N

South 24 Parganas
mandal (required) TCE/ETF

[@feT 7/ 70T 7 -999]
ac (required) TSl R

-

Chhatna

Saltora

Bishnupur
Khanakaul
Goghat
Dhanekhali
Maynaguri
Dabgram-phulbari
Mal

© ®© N oo g~ W0 N

-
o

Bhagaban Gola

-
=

Bharatpur
Naoda

JEGRN
w N

Purbasthali Uttar
Bhatar

JEGN
a b

Ausgram

N
(=)

Nandigram

-
J

Moyna

-
o)

Chandipur

-
©

Canning Purba

N
o

Magrahat Paschim

N
=

Jaynagar
village (required) SIS
[T 1/ S % -999]
ps (required) TSTBWIR o d 37 Nandanpur S.S.K
[T A/ ST 7 -999) 38 Beledurganagar High School
39 Shirakol Mazerhat
Bhandaripara F.P. School

40 Nilratan Sarkar Primary

School
41 Araibanki S.S.K
42 Patikhali Natunpara F. P.
School
housenumber (required) IbEanl
[@IfeT 1 / ST 7S -999]
mobile_numresp (required) 38,51 w111 f5<F ST ©T Asifer S SISt t_1Se JX[ e saer?
[T 1/ S 7S -999]
Question relevant when: ${mobile_fm1} = 1
Response constrained to: string-length(.)=10 or -999
mobile_num (required) 39.3f1% @11 foF TN O TS (AT @F SRR HIRIEH THIAM® TS A2
[T 1/ S 75 -999]
Question relevant when: ${mobile_hh} >=1 and ( ${mobile_numresp} =-999 or ${mobile_fm1} = 0)
Response constrained to: string-length(.)=10 or -999
mobile_who (required) 40. <9 6 SIS IE0S S @8 TS (1T FI?
[@fT 1 -999] [Fows fine wifiper: 99]
Question relevant when: ${mobile_num} >0
religion (required) 41 S T AR S o0re? 1 fem
[ 71/ 3 17E: -999]] [Fwww fmw wifipe=r: 99] o s
3 R
4 fry
5 o=
6 @y

99 Tuex fite wfoes
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other Other

religion_other Specify other.

Question relevant when: selected(${religion}, ‘other’)

category (required) 42 15 T HEAT SRS ? 1 AR
2 awfw
3 anfe
4 ofafs
99 Tgwx e wifgg
-999 wifwr =1

other Other

category_other Specify other.

Question relevant when: selected(${category}, 'other’)
aadhaar_quest el 2: siferigfeo

Question relevant when: ${aadhaar_fm1} = 1
save_reminder_11 RS @S SR ST T FRAF= Tl
aadhaar_when 43.1(fT T SRR G 13 AR FAST?

Question relevant when: ${aadhaar_fm1} = 1

aadhaar_mm (required) el

i

Question relevant when: ${aadhaar_fm1} = 1

© 0 N o g B~ W N
9

%

1 e
12 fomr==
999 wifer A1/ T 8
aadhaar_yy (required) BEss 2009 2009
Question relevant when: ${aadhaar_fm1} = 1 2010 2010
2011 2011
2012 2012
2013 2013
2014 2014
2015 2015
2016 2016
2017 2017
-999 If A/ AT 1R
aadhaar_camp (required) 44 S SR SRR Sl SR FACS NRIGF© FAEA? 1
Question relevant when: ${aadhaar_fm1} = 1 0 A
99 Tgud firrs wifeg
-999 wifey A1/ | =S

ad_enid (required) 45,72 ST QB SR FOHAH ol SV FATLE, T2 5 aisia @8 sifsprsres offet e 2 1 SR T F R
o1 [t g
Question relevant when: ${aadhaar_fm1} = 1

ToBE wsfy

TSI TR

TR AT

=9 aftas / ==fot / TmeF
FTeg

N o g b~ w N

8 NG KRR | AT

9 DI *FOAS AfTT ©
o=t 55

98 TR BUAaY T

10 SR NG AFOF 78

ad_enid_other (required) ST GUEE T
Question relevant when: selected( ${ad_enid} , 98)
aadhaar_why (required) 461 wNIsifeT @< (B AT FToS BrEerE ? 1 FR ARG / S /
Question relevant when: ${aadhaar_fm1} = 1 SRFE RS S a6
NG Gl AL

2 O AfEAIRS A ST
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aadhaar_why_other (required)

ad_pay (required)

ad_paywho (required)

ad_paywho_other

ad_payrs (required)

ad_freeaware (required)

ad_enease (required)

ad_overallease (required)

ad_overalleasewhy (required)

Question relevant when: selected( ${aadhaar_why} , 98)
A7 SR FOF SNST s@fwamr e 5 F1o Bt foraferaei?

Question relevant when: ${aadhaar fm1} = 1

48,1 BiF forraifererr?

Question relevant when: ${ad_pay} = 1

Specify other.

Question relevant when: selected(${ad_paywho}, ‘other’)
49 FRIE TSI SR FITF 1900 F© b1l e srfea? (e -999 wrifer )
[T 1/ S 7% -999]

Question relevant when: ${ad_pay} = 1

Response constrained to: .>0 or .=-999
50.UIDAI Feraf* i<t v, @G TR FI0R @ Gl 121 (6 [K-IsIeTs A1 Af2gds 0 S| Sl & a8 = g
TAT?
Question relevant when: ${aadhaar_fm1} = 1
51 APRIFSI, SR AR FIOF SR SRR F© A2 Al Fo- ZaT?
I [ G
Question relevant when: ${aadhaar_fm1} = 1

52 AMPRFSIE, SR F T T AF 6 LR FIOF AR T (F SRS ARG AT Fiool AME?
ST [T ST
Question relevant when: ${aadhaar_fm1} = 1

53. LR FIT FISTH SR ST 1 F2G FE ?
[ T/ 0T e -999] [Gooe [t @if~e<r: 99]
Question relevant when: ${ad_overallease} =2

27/07/18, 11:25 AM

A ST Tl AraeaT

3 ey Wty aft s e

(T T, @At TR,
ANATIRATGT AT TG, TT)
SN FAS BIB|

4 FRe @ aF e T

SEATFTEE LS 518 / a6
1 S0 / <1 stfsest / o1

(518

5 e TS @ff torEtes
6 Il aff aF 6 SEeFe Afer

oo e w1 2w,

7 FRE AL FOZ AT

IO L fwt A

8 TR fTer el
98 ST STEAY FT
99 Yuud fite wifogs

1 ==
0 =

99 Tgea e =g
999 wifeT A1/ T 8

1 SN APBIESA aFC
VTR

2 AR B SR 12

=T

AR I 120 TG

TENRF 12UF O

S (T 12 S

QB T TRy

AT Tvor / Srgsna

8 T

N o g &~ W

-999  wifer A/ W 1S
other Other

1
0

==
Bl

99 Tued fite TfEes

2
3
4

g
s
FIo

99 Tuwd fire wifEg

M)

RS AGG T A AKE F5T
T/ I Ao 1S
wfyFed Foa

99 Tued firte TfEesw

aff SNF FH ANTOFA [
FERQORPBRE sRenTaer
ST T FACS SR T
ST FFIRCET ST S i
| o [ AfaHt S FHTS oAl
I S 7R o (P
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ad_overallease_other (required)

ad_overalldifficult (required)

ad_overalldifficult_other (required)

ad_addresssame (required)

ad_addresssame_other

ad_addressupdate (required)

ad_adupdatewhynotry (required)

ad_adupdatewhynotry_other

ad_adupdatesuccess (required)

ad_adupdatesuccess_other

Question relevant when: selected( ${ad_overalleasewhy} , 98)

54 LI FIT FISTH SR G Fo1 DEE?
[ T/ 0T e -999] [Goos [ @if~pe<r: 99]
Question relevant when: ${ad_overallease} =4

SR ST T
Question relevant when: selected( ${ad_overalldifficult} , 98)
555111 SR FI0H] & OB @ ife fF @uaie SIitg @uel Sy (=i 2m=1?

Question relevant when: ${aadhaar_fm1} = 1

Specify other.
Question relevant when: selected(${ad_addresssame}, ‘other’)
56.<T1(f < SR FOFIT SR IO ST 7 AL ST FA BT FG?

Question relevant when: ${ad_addresssame} = 0

57 131 ST S5 fSFI1 S50E =171 (5B e 172

Question relevant when: ${ad_addressupdate} = 0

Specify other.
Question relevant when: selected(${ad_adupdatewhynotry}, ‘other’)
58.<11(f f<F SR SR FTF SFIE TR STE FA00 AGLET?

Question relevant when: ${ad_addressupdate} = 1

Specify other.

Question relevant when: selected(${ad_adupdatesuccess}, 'other’)

ad_adupdatewhynosuccess (required) 59.0F (e SISIR fSFIAT SIHTTE FATS Tewal T1w1?

Question relevant when: ${ad_adupdatesuccess} =0

G, THARF ST,
Ewln) SR <P UoTEE
FIRE SR FNE QG SR
e

98 SI-TEII=Tal SLeer et

1 OISR I SR S R
1 AT G T A 27

2 oy R e e a5
S B T TRIFS FTAE

3 feresmafs@ae s@eEasr
RBefera el ety e
T [ g [ Afarelfa s
RSEEEEIE

98 ST BURaTY T

1=

0 =

99 Tuwd frrs wifpgw
other Other

1 =

0

2 enfsy wifer 1 =iy @Bt e s
1 enf¥ eifey 1 et e

TS S5TTE F200 M1

2w e e e
Bt

3 ey FeA o
ST SNF SO
F A

4 wify aFfe Tg FIoR SR
G AR FCS BI8 A

99 Tywx frre wifme

-999 wifer =1

other Other

1 ==
0 =
-999 W= W

99 Tgud firrs wifegw
other Other

1 =ify aft ssnod T o=
QB R e Asf

2 wify aff wsnet Fe o
SERTETeE A e ar
T AT FA© AR 1
AT

4 SN U SIATE FA
et @ff 2= @ eI U=
=3

5 O SRR FE 1A
e = aff 2= & B

99 Tuwd firs wifegw
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ad_adupdatewhynosuccess_other

ad_mobile (required)

ad_mobilesame (required)

ad_mobupdate (required)

ad_mobupdatewhynotry (required)

ad_mobupdatewhynotry_other

ad_mobupsuccess (required)

ad_mobupsuccess_other

ad_mobupdwhynosuccess (required)

ad_mobupdwhynosuccess_other

aadhaar_updateease (required)

updateprocessease (required)

Specify other.
Question relevant when: selected(${ad_adupdatewhynosuccess}, ‘other’)
60. <1111 2T aFFE A FCR Ge[ A g FAGre O weAfel 6 a6 (=Set 2 T3 @i FAGEeT?

Question relevant when: ${aadhaar_fm1} = 1

61. 9 fF @2 @ T8 TS 5[ AR FR T2 SRR FGH AT A(AGHS F211 Gyl frraiararer?

Question relevant when: ${ad_mobile} = 1

62. IR ST FITF @ S TG (AL T2l AR SATTE FA (BB FATRA?

Question relevant when: ${ad_mobilesame} = 0

63,7 ST SR TS CERI T3(E SATYE =1 (BB FA(?

Question relevant when: ${ad_mobupdate} = 0

Specify other.
Question relevant when: selected(${ad_mobupdatewhynotry}, 'other’)
64. 7T 5 TSR ST FCAR AL TS T[S (26l TAA(B HFASA ST FACS AR

Question relevant when: ${ad_mobupdate} = 1

Specify other.
Question relevant when: selected(${ad_mobupsuccess}, ‘other’)
65.13 SIS SIS (RIS [ TR SAATTE FRACG F2e efe1?

Question relevant when: ${ad_mobupsuccess} =0

Specify other.

Question relevant when: selected(${ad_mobupdwhynosuccess}, ‘other’)
66.IRIFSIE, SR SR FUIAF O (TS @R / 2T F5FTT) SMTE F1 SRR F© 72w Al Fow &a?
TR [=EEe G

Question relevant when: ${ad_adupdatesuccess} = 1 or ${ad_mobupsuccess} =1

67 SRR 1 SILA(B S Gelal SIUEB A2e FE?

Question relevant when: ${aadhaar_updateease} =2

-999 wifar =t
other Other

1 ==

0 =

-999 W= B

99 Tuex fite wIEes

1=

0 A

-999 W W8

99 Tywx e wifee

1 ==

0

2 enfsy wifer 1 =iy @bt F=e s

1 e enfer =1ty s
TSR (I S5TE FA00
At

2 =iy FroRfe e e
Bt

3 SR SRR IS
TR AU SR
T FAS FE AT

4 =ify a3 Tg1 FIoR SR
Gl OISR L BT AT

99 Tywa e wifveg

-999 wifer A

other Other

1

0 =

99 Tuwd firrs wifegw
-999 wifer A1 / Wi 18
other Other

1 wify aff eses = e
A fB R L st

2 =iy aff ensnet e o
SRS A2 e

3 IR e O SR
T TG FACO AR 11
A

4 IR O AHATE FAR
e @ff ¥ A e 2w
=3

5 Sy O FE 12
*1Te t7 @ff 4 @ BIe
U6 FE

99 Ygua e wifeg=

-999 wifer =1t

other Other

2 e

3 frers

4 Ffom

99 Tgws fire wifme
1 OIfEFgEs / Sisnet @
2 OB AwE FA
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updateprocessease_other

updateprocessdifficulty (required)

updateprocessdifficulty_other

ad_duplicate (required)

ad_duplicatesame (required)

vid_duplicate (required)

vid_duplicatesame (required)

ad_use (required)

Specify other.
Question relevant when: selected(${updateprocesseasej, ‘other’)
68. SRR 11 SIA(B SR Gl STTBE Fo FAE?

Question relevant when: ${aadhaar_updateease} =4

Specify other.
Question relevant when: selected(${updateprocessdifficulty}, 'other’)
69. I FIE FO5Ife T FIOH ©M?

Question relevant when: ${aadhaar_fm1} = 1

70,91 fF aF8 12-SI0GF SR 7= ©e?
ST FIOF (5 T T GOOIATONT SN© T G2 SRR ST FT GIow! ST SIIFIA] 78 STe2/=T Qetwil T Gibw 2fr

Question relevant when: ${ad_duplicate} >1 and ${ad_duplicate} <4

71 ST Foslfe telbE SISy Fus wg?

Question relevant when: ${voterid_fm1} = 1

72,5177 fF aFs 5T @3 <ol e ((OhE S FuH (5 FHR GlE TOSANTS! A (21 SN0 G oleHIF= T
ST T SO | SRR SR [618 F41 Ot 1= 7fe aFea =

Question relevant when: ${vid_duplicate} > 1 and ${vid_duplicate} <4

73U AT SR SR FOF] e, Sisifr aff frena Ia<e@ FEe-1?
o [t g
Question relevant when: ${aadhaar_fm1} = 1

FROFE T T2 e
3 Oyl B 49
R few
4 =S erB e S 4|
99 Ggud frire wifpg<
-999 wiIfar =T / W 18
other Other

1 OIfEFeEs / SIsnet @
[QUSICN BRI

2 ISR g SR Al
[oey

3 s A fF et o
Bl

4 TGS T
FI AR ferer A

5 FEA ¥ wiEe] (e, S

6 TR SR FH SAMTE
e

99 Tygwx e wifeg

-999  ifa =TT / W 718

other Other

99 Tgod firts wifeg
-999 IfeT AT/ WA 1R
4 9T fe

-

99 Tued fits Tfoes
1=
0

99 Tywx it wifee

-999 wifey AT/ W =S

1 I SR FeE aF e FA

2 AReRe A< W o
ST TR O AT
A"

3 IR e Bee e
R FoR e a6 feferbre

4 SR SR AFE SR
SR FOIR AN @6

5 @I BIST AMETS a7
FEAER @ G AR ST
SRR ML ST TS
TERI TR TRIFS FA1 MG

6 = A A FIOF 50T
AL LRI Fhfe

98 ST BUAeT el
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ad_use_other (required) ST SR

Question relevant when: selected( ${ad_use} ,98)

ad_fprintaware (required) 74. SR AFR QTG QHEET &6 (7 A= @16 fOTEBe MR Qs SIysad Bisl TARR FA00 AT Ssffr a8 1 =
AR BT TR oo fera? 0
Question relevant when: not(selected( ${ad_use} ,3)) 99 Twwed e wfoe<s
ad_irisaware (required) 75.4% B SR FOE [@RERSEE T aF e [[FEE 26 & sl aF 6 feferbre i etemE Sisfm S== (= 1 ==
TN TR FAS AN {1 a8 QR T Ao [Breri? 0
Question relevant when: not(selected( ${ad_use} ,4)) 99 Twwd e wfioe<s
ad_otpaware (required) 76,4 FIOLE [AREBEEE 0E @B Ta T Sefer S i (e tisa e X0 A<FB <R 1570 St =T st 1 =
TR FACO AT AT @2 [QAREEE T Ao (&ee1? 0 =
Question relevant when: not(selected( ${ad_use} ,5)) 99 Twed e wfioe<s
save_reminder_1 TG @ SR AN FI TR T

Question relevant when: ${consent} = 1
bank_section a8 faoter FfeFe sRemelfa $s fofge =
Question relevant when: ${consent} = 1
bank_questions
Group relevant when: ${consent} = 1
bank (required) 77 IR F QB TERTF SHRFGAB ©E? 1 ==
0 =
99 Tuwd fite wifgw
bank_no (required) 78 S5 FOIfel THNGF SHFTGD SME?
[T 1/ N 75 -999] [wed finw afpe: 99]
Question relevant when: ${bank} = 1

pmjdy (required) 79511 i PMUDY (SRAIISNERR Greidiel S(IFe5111) SRiFe-5 oig? 1 ==
Question relevant when: ${bank} = 1 0 =
99 Tuwd frrs wifmgw
-999 Trffer AT/ W TR
bank_year_single (required) 80. <1 T2 SR JANGF TFTEGAE AT ? 1 aF IR F

Question relevant when: ${bank_no} =1 and ${bank_no} <99 2 1-6 T @Ier
3 7-12 51 =t
4 1-3 J=F @Imet
5 4-6 2 @Il
6 6 L= @

99 Tued fite wIEes
-999 ifey A / T T8
bank_year_multiple (required) 81,5 ST TSI TSRS TNGF AFTEB BT LAGra1?

Question relevant when: ${bank_no} >1 and ${bank_no} <99

-

aF AR F
1-6 =11 =Ier
7-12 5T et
1-3 &3 st
4-6 J=g wImel

o A~ W N

6 =T AT
99 Tgod firts wifeg
-999 wify A1/ W WS
ad_bankopen_single (required) 82.<1(fe1 S5 JANGF SAIFIGE 2T S AR FAE? 1 ==
Question relevant when: ${bank_no} =1 and ${bank_no} <99 0 «r
99 Tuwd frrs wifg
999 wifer A1/ T 8
ad_bankopen_multiple (required) 83. 19T < SIS ATHRAREE T21aTT NG AFTGE (TR Trelal ST RSN FAG? 1 =
Question relevant when: ${bank_no} >1 and ${bank_no} <99 0
99 Tuwd firs wifegw
999 ifsT A1 / = 18
ad_bankopenhow (required) 84, IR TG SEFIGE (TR T S5Ao fFON SN Jeaere FAere1? 1 aFfs mEewae A fana
T R g (T @=FTe < for s,
Question relevant when: ${ad_bankopen_single} = 1 or ${ad_bankopen_multiple} =1 e T R,
Zefe)
2 IR AR O SR @3
o= (B fefabre i s
Y S-IFGIEH
-999 Tifer A1 / AT 1R
98 ST S
99 Tgod fits wifmg
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ad_bankopenhow_other (required)

bank_opentime_single (required)

bank_opentime_multiple (required)

bankopen_ease_single (required)

bankopen_ease_multiple (required)

bank_aadhaar_single (required)

bank_aadhaar_multiple (required)

verify (required)

bank_aadhaarwhy (required)

bank_aadhaarwhy_other (required)

bank_last3month (required)

dbt (required)

dbt_other

dbt_oneaccount (required)

Question relevant when: selected( ${ad_bankopenhow} ,98)
85.43 AT IAFTB UeAS F© N eioifera?

Question relevant when: ${bank_no} =1 and ${bank_no} <99

86. <51 AHRTOFON (L& JANGF SAFGB LTS FO=k T3 (ESIGE?
[ T/ 0T e: -999] [Goos [ @if~pe<r: 99]
Question relevant when: ${bank_no} >1 and ${bank_no} <99

87 AMMRFSIA, SR TG STAFGB e F© A2G Al Fo 2e?
T [ A
Question relevant when: ${bank_no} =1 and ${bank_no} <99

88 SNPRIFSIE, SR [ OFOT TUTEAT JNGF AFTGB TR Gl TSI ST FOBI LG AT T [@aT?
ST RS ST
Question relevant when: ${bank_no} >1 and ${bank_no} <99

89, SIS TG SHFGAE SAE S T A Y JF9?

Question relevant when: ${bank_no} =1 and ${bank_no} <99

90. ST F@sIfel STFGE SR AN AFS FT ANG?

[T 1/ 5 075: -999] [Gwed firrw afger: 99]
Question relevant when: ${bank_no} >1 and ${bank_no} <99
Response constrained to: .<= ${bank_no}

91. * 99 * 99 # AT T WL FLFS AGIS FeT

Question relevant when: ${bank_aadhaar_single} = 1 or ${bank_aadhaar_multiple} >0

92,731 ST SIS TG @ SIS SR T2 raieerr?

Question relevant when: ${bank_aadhaar_single} = 1 or ${bank_aadhaar_multiple} >0

SR ST T
Question relevant when: selected( ${bank_aadhaarwhy} ,98)
93.<1%(feT 51® 3 A SR ARG CATAT T SAFGB IR FAEA?

Question relevant when: ${bank} = 1

94 SIS (e 120 STl 1T ST ALATO 51171727 SHIRRAIRLS < (ARSI, (I3 a-enaaferas Tef, eres
9, TR @3 @RS TOATE TR T I SEFLE BIF A0 F0O AF FLAE|

Question relevant when: ${bank} = 1

Specify other.

Question relevant when: selected(${dbt}, ‘other’)

95.<1i#(f fF OInE aFF & aFIGBS AIN?
Question relevant when: ${dbt} =1 and ${bank_no} > ${bank_aadhaar_multiple}

1 1fm
2 23w
3 46w
4 7-10 formt
5 11-15 fim
6 15 it @l
-999 Ife T / A R
1 1f
2 23w
3 46fm
4 7-10 fomt
5 1115 fom
6 15 forter taifar
999 wifer A1/ AT 8
2 wEG
3 frawsE
4 o
99 oo firrs wIog
2 W=y
3 frmsta
4 o
99 Tuwa fite wfEgw
1=
0

99 Tuwd furs wifmgw
-999 IfeT T/ A R

1 =

0 =

99 MBS FS SO

4 ABIE F41 AN OB / ABIE
T ST

1 PR FRART SANF BT
TRIFS FA AEE

2 TR FEAFAR FIE 2 AT
SMTSTTR G SR SRR
1eEfrel® oo feat

3 (R SR AR S
NG ST <2
T RY TR

98 SRR SUAY

99 Tuwx firs wfpe

1=
0 A
99 Tuwd firs wfegw
-999 wifer A1 / AT t1R
1 =W
0
99 Tgud frrs wifeg
-999 if =TT / W T8
other Other
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dbt_oneaccount_seeded (required)

save_reminder_2

mobile_questionsn

simcarrier (required)

simcarrier_other

generated_note_name_156

sim_mm (required)

sim_yy (required)

ad_mobilesim (required)

ad_mobilesimhow (required)

96.9% JANGF S[AIFITEH SR SR FYET T AL THO?

Question relevant when: ${dbt_oneaccount} =1

TG @fTE SR AN FI T T
Question relevant when: ${consent} = 1

Question relevant when: ${consent} = 1

97 SR TS =T @ fF 71 Fioq o< Fae?

Question relevant when: ${mobile_fm1} = 1

Specify other.

Question relevant when: selected(${simcarrier}, ‘other’)
98.wni(fer a2 31 F1Uq 2w aErE=?

Question relevant when: ${mobile_fm1} = 1
=

Question relevant when: ${mobile_fm1} = 1

T2t

Question relevant when: ${mobile_fm1} = 1

99. w9 < @8 11 Fwe] 1910w S q21E FATRET?

Question relevant when: ${mobile_fm1} = 1

100.4% 57 FIO S1S= A +fT FONF SN TR FABEN?

Question relevant when: ${ad_mobilesim} = 1

99
-999
1
0
99
-999

-999

G AT/ WA TS
==

B
Towd fire g
Gifel A1 / T 718

AsT=EeT
e fore
SO
rEfos
anamas
QR
ity

other Other

© O N O o B~ W N =

o o
a3 o

12
-999
1
2009
2010
2011
2012
2013
2014
2015
2016
2017
99
-999
1
0
99
-999
1

2

-999

Gifet A1 / T 718
2005 AT & AT

2009

2010

2011

2012

2013

2014

2015

2016

2017

ST AT/ T S

==

Bl

T AT/ A TS

aF (B *mIREeFe e o
(T @R TB o1 s@me,
TR FTGH TATTE
Fe=)
WWW@QWWQZS
a<TB fefasrer i am=
FERgsmAfs@ee R, =,
YT B SHE
Gfel A1 / T 718
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ad_mobilesimhow_other

ad_mobilesimtime (required)

mobile_aadhaar (required)

smsreadhh (required)

pds_questionsn

rationcard_hh (required)

rc_num

rc_listed

rc_note2

rctype (required)

rctype_other

rc_adhhnum (required)

rcwhynotseeded (required)

Specify other.
Question relevant when: selected(${ad_mobilesimhow}, ‘other’)
101.9% BT 10 AR FAR G FOFH T w92

Question relevant when: ${mobile_fm1} = 1

102. SIS LTSS C2FTel SIS ST TSR A TR0 ?

Question relevant when: ${mobile_fm1} = 1

103. T AR (R 5 TR (21 aTATAT SSTE AR foT2rs sma=r?

oifeast s@em
Question relevant when: ${consent} = 1

104 <=1 AT SRR I TR R FO AR ?

105, ATtz F@slfel = FTog wng ?
[ T/ 0T e -999] [Gooe [t @if~pe<r: 99]
Question relevant when: ${rationcard_hh} = 1

10621511 i @B =i FOHR S gRo?

Question relevant when: ${rc_numj} > 1 and ${rc_num} <99

IR fererer ™ 411 Sfow OIna GiapTs FTUH @ A4
Question relevant when: ${rc_listed} = 0
107.fF 4R T F0F Ag?

Question relevant when: ${rationcard_hh} = 1

Specify other.

Question relevant when: selected(${rctype}, 'other!)

109. 54T F© Gl T ST ST FUC TR (4 T I TS FAE ?

[T 1/ T 7E: -999] [Fowd fine @ifipe=r: 99]

Question relevant when: ${rationcard_hh} = 1

Response constrained to: .<= ${rc_num} or .=-999 or .=99
110.03=1 ST SIS (1 0] @31 AL S AL TS FAA 12

Question relevant when: ${rc_adhhnum} = 0

98 I CIEEY
99 Tuwd frrs wifpg
other Other

1 1fam

2 2:3fm

3 46w

4 710

5 11-15f=

6 15 firera w@fr
-999 wrifer A1 / W TS

1=

0 =

99 Tuwd frrs wifpgw

-999 TIfeT AT / W T

1 [ure Al @RaNa fAers s
a

2 aNaTaA Yo AR g
ferars stz =1

3 anaNas sure @ f&ers s

99 Tuwa fite wfegF

1 =
0
99 Tued fite Tfoesw

1=
0 At
99 Tuwa fite wfEeF

1 oo
(S.P.H.H)

3 @S s (PH.H)
4 FTORE 2V LA

(RK.S.Y-1)

5 SO vE R AT
(RKS.Y -1l

6 e

7 o e

99 Tuwd firs wifegw
-999 wifer a1t
other Other

1 ofere e e

Rk

2 BYB! FERMGEN g e
feat

3 =ity F=we snfa g it
ook

4 TR SR s
5  enf Fre BIEA
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rcwhynotseeded_other

posable_resp (required)

posable_resp_other

posable_num (required)

fpssystem (required)

fpssystem_other

fpspayment (required)

fpspayment_other

rcnumofvisits (required)

fpsproblems (required)

Specify other.
Question relevant when: selected(${rcwhynotseeded}, 'other’)
111 SIS Grefl STl <5 S e Mo PoS T ST+ SIGSaTa i / SIefast TEheid S0 SMaw?

Question relevant when: ${rc_adhhnum} > 0

Specify other.
Question relevant when: selected(${posable_resp}, ‘other’)
112, 94-fae e SEFEARE H18a TR @4 (9100 SIS 19 | SISfEsT Fou AT IR A0S ARTT?
[T 1/ T 7E: -999] [Fowd fine wifipe=s: 99]
Question relevant when: ${rc_adhhnum} > 0
Response constrained to: .<= ${rc_num} or .=-999 or .=99
113, TS AT BITA TR T+ S @ 2o 6 42 s e w7
T I AT
Question relevant when: ${rationcard_hh} = 1

Specify other.

Question relevant when: selected(${fossystemj, ‘other’)
114 TS, D51 (TSI SR T @7 G 2 ST FE?
ST [T ST

Question relevant when: ${rationcard_hh} = 1

Specify other.

Question relevant when: selected(${fospayment}, ‘other’)
115,578 o A AR A 7 AFE FAK G A9 F© I Poraie=?
[@ T/ 0T o -999) [Goes frre wif~sg<r: 99]

Question relevant when: ${rationcard_hh} = 1
116.519 3 ST LT SN SRR TR AV (< (<FIG T 7 T L Trae?
ST RS AT

Question relevant when: ${rcnumofvisits} >0 and ${rcnumofvisits} <99

99
-999

other

99
-999

other

99
-999

other

3
99
-999

other

ifer 1
Other

Yes

No

System doesn't exist
Refused to answer

Don't know/Don't remember

Other

TR

YO Syerd wist s
TNL-TRIFS AT BA T
Preas mifm

SINGTES B9 @3 S
SRR AL - ALITRS
SEFBAE H18ax T
TR

YR Bt e e
= a3 -
TS AanEfon ffreast
e

fereeRfsrme @ wsfas
ST A frafire
= a3 -
TS targfion freast
e

Grifer =11

Other

A BI=FT S@WI

ST T AFGB 120
= e

Tox

wifer =

Other

FoaTr Arere=l (2 e
SRR @F TR SR
TR @ I A FO @
RIS 8

FOaTT e (21 Gy
o5y
UGS T A1 T
T SR AT T @
T 3 I (9T

SR G 15109 2 T
ST ATl

SN QRIS AR &
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fpsproblemsother (required)

fpsproblems_other (required)

fpsbenefits (required)

fpsbenefitsother (required)

fpsbenefits_other (required)

rationlast3months (required)

117 11 ST (T AR ST SEe] ol $od oifeaigae wa?

Question relevant when: ${rcnumofvisits} >0 and ${rcnumofvisits} <99

Question relevant when: ${fosproblemsother} = 1

118.919 3 =¥ @ AR 6 F (@ Al i erEne?
ST [T ST
Question relevant when: ${rcnumofvisits} >0 and ${rcnumofvisits} <99

119,511 ST TR AL AL S =eoffel Tiia Ol ige =18?

Question relevant when: ${rcnumofvisits} >0 and ${rcnumofvisits} <99

Question relevant when: ${fpsbenefitsother} = 1

120.519 fow A, 9T F© A1 ST (M) SR AT ST TRl TR SRR Gofl FoTe=ie1?

Question relevant when: ${rcnumofvisits} >0 and ( ${fpssystem} >1 and ${fossystem} <6)

10
13

17
99

S 20 JRI

il

FRgsmAf @ @
AT (7 @<L/ A
SRR AT
FERYofsEe Fia FE
g PoS =i @2me @t
= e [ #ife 1E
TG eyl / g T 1
TSV SRR TBUR ST T
oW BIFT A1 =g

TS SEeTRe LT
(3@ @z / At AR
FRI)

PoS mif* @ume asfe o1
frteg

FENGF SHFGE SR @
S THS FA1 L1/ TEGF
SRIFTE FA I &
e =

T2 SR 1R T MR

-999 wrifw

1=
0
99 Tuwa fire wf-Eg

G SR AT & e
S A

2 I

3 IR R SROFE FRIE G
AFITHF AR T T @
TS T A

4 S = @ ST e B8
AE

5 SN 4IF WS B 12
A BIRRT S sifseny
TS T A

6 frEfroena / FREmi @ 18

7 & AR WS

99 Tywx e wifme

-999 wrifey

1 ==

0

99 Tuwa firte wfEgF

-

a b~ W N

AT
34 =

5 1 SRS AR

FUAE FG F A
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rationlast3months_other

rationtime (required)

ration_unable (required)

ration_unable_times (required)

ration_unable_why (required)

ration_unable_why_other (required)

lessthanthree (required)

Specify other.
Question relevant when: selected(${rationlast3months}, ‘other’)
121,57 o= M0 (A L5EFR FAR G 1Y TN F© (e? (1Y 120 QRN AN 120F @R R ST 7= S=1-10)

Question relevant when: ${rcnumofvisits} >0 and ${rcnumofvisits} <99

122,519 3 S, f<F SR SRR @ ARO[ FAE (BB FAE AR AT (HI6! 2= *HTH AFE FACO AT ?

Question relevant when: ${rcnumofvisits} >0 and ${rcnumofvisits} <99

123.F% A7 O3 FF AHE?

[7ET T/ 717 T -999; ITT AT & FHE: 99]
Question relevant when: ${ration_unable} =1

124131 ORI SR [F9 HROFE FAO AT 217?

Question relevant when: ${ration_unable_times} >0 and ${ration_unable_times} <99

Question relevant when: selected( ${ration_unable_why} ,98)
125,731 SIS TEA TR FAIE Gelel Fona @1 w1 forafarai?

Question relevant when: ${rcnumofvisits} < 6 and ${ration_unable} =1

99
-999

Sfe A/ T S

other Other

o N B W N

-999

99
-999

98
99
-999

15 fafe @z &%
16-30 faf®
31-45 faf®

45 ffa-1 a=E
>-2 FBT

2-3 9Bt

3 FBE @A
Gfel A1/ T 718

oIt A1 / S 718

fefaBiesy Ff

Toetra AR = (S
I A N TR 78
To=TT= AR T G
loe

FERQoRAPRE sReN=er
AL (@ @32/ A
SRR A=)

TG S A
FRReSIRRIE =T ALEE
TR G SIS A=

ar

TR EE F1a F
fFg PoS ™ @2me Fe
e =

SR SENIETRe JR2ET!
(= @z / 2 s
FATIH)

PoS =i a2 aF e o3l
free

TG SEATFGB ST @
S TH© FA1 L1/ TEGF
SEATFGB T I @
e T

Did not have enough cash
to pay for the ration
SR GLEH Y T
wrifer =T

TROE FATS BIET

o AF8 AT @F T
A T A T ALEFE
FEE

Ot AT T2 e FIwR]
a1 ST ST T 1 (78
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lessthanthree_other (required)

systemcompare (required)

systembetterhow (required)

systembetterhow_other (required)

systemworsehow (required)

Question relevant when: selected( ${lessthanthree} ,98)
126.ITBTIR T Qe 0 ST SIS T2 sl T9[aiesT, @2 S a1 Ses a7 Ane snsf feona anas
T [T TG

Question relevant when: ${fossystem} >1 and ${fpssystem} <6

127 731 ST S0 A T e ofe?

Question relevant when: ${systemcompare} =2

Question relevant when: selected( ${systembetterhow} ,98)
128,13+ SISl o FL TG BN 2A=A917?

Question relevant when: ${systemcompare} =5

98
99

FeRgsmafs@EmD @
RSRECl

RIS IV A1 R T
fergomafs@me TEaer
TR FROFR I 1S

Bl

FERYIAfsEE F1a FE"
&g PoS I @2mie asfe
SIS SN AT
PoS e a2 aF e ol
frteg

TENGF SEFGE SR @
I TS F= ZA TG
SEFGAB T A @
e T3

-999 wrifey

A W N

99

98
99

ISR TBTE 2=

JEACS SN

T TG @R SR &
TS Stz /1 (TR SoEiivl
QBT TR AT SR =)

ST @2 SR @ SM1foe
(@fB wmer tereT A

ST FT G ATE (AL
rferars fea) (b’ == =1
FAE)

ST T @ T BT 18
(‘b =ftr forragieet =11 =)

TR SR Gl ST
SRS T F = AIFN Q
TS =7

T a7 G Hfean mie
SR N AR T T
SRR TG, e,
! E91H)

o N W AR Eeers e
ST T
T G

Q2 T O SNAR T
S 11tz =1 (ST A=
| SIERIR SATSITS =1 ST
RipivEcnicinienio)§)
ST T SIS 14 g sE
a

ST IR MR T AT 1
(b’ FR=RIEN === A1)

BT F 18 (b FR=IET
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systemworsehow_other (required)

save_reminder_3

Biicell

Group relevant when: ${consent} = 1

nrega (required)

jobcard_num (required)

names_num (required)

nrega_try (required)

nrega_try_consent (required)

nrega_notry_consent (required)

nrega_ad (required)

work_interest (required)

nrega_work (required)

work_opp (required)

whynowork (required)

LR =)

T AR Gl ST
R QF G HAfTast #rers
R @R Y T T

ERECUIE RS

8 I WAl o SErfwers s

a3 AT 2foe

Question relevant when: selected( ${systemworsehow} ,98)
TG QfTE SR AT FI TR T

Question relevant when: ${consent} = 1

129 7T Fer Foe < “ifaanaa eime?

130, sAf=TER Foslfat *7N Foe @me?
[GIT 1/ T B -999] [Foww e wpeE: 99)
Question relevant when: ${nrega} = 1
1315 FICIIATS SR FOT T OIAFGRS ANG? (TE)
[GIFT T/ T B -999] [Fwew e wpe: 99)
Question relevant when: ${nrega} = 1

132.918 9 A f<F (IS AV FIG (90O (BB FLAGE?

Question relevant when: ${nrega} = 1

133,11 T (118 SR S Fel IE0S S =T F1G 500 [HHB! FENg Al S Sd QFor=1a 51 (20F $9od o
AMA?

Question relevant when: ${nrega_try} =1

134 == 6 *@ FUF SIfTFIGHRO [FIAE AT AL FAT J50S Al AT S 6 S aFer=1a #6120 Tood e
ATE?
Question relevant when: ${nrega_try} =0 or ${nrega_try} =-999

135 TS FIGE F0F] [ SR AL FIFS F1 <052

Question relevant when: ${nrega_try_consent} = 1 or ${nrega_notry_consent} = 1

136.519 =121 A, Sstfer f<F Tl e 157 SroEet ferarmr?

Question relevant when: ${nrega_try_consent} = 1 or ${nrega_notry_consent} = 1

137.918 =11 WA, WSt <5 T=Rel FOF G (00 aFAF FIe FAR?

Question relevant when: ${work_interest} = 1

138.5M9 9 ST, S5l T2 SIoRET faralel O < SHi(fey F=or=1a Aol Fier toaiar=1?

Question relevant when: ${work_interest} = 1

139,71 SN+ THEBT FAIG S8 FIG 5117 foT 2

Question relevant when: ${work_opp} = 0

9 ST Q¥ T @ GreE
BfEea sifamer @z @ ifhe
(12T @2 A w2 e
=I0T)

98 SITEII=Tal SLeerl T

99 Tuwa firte wfEgw

1=
0 A
99 Tuwa fire wfEg

1
0
99
-999
1
0
99
-999

99
-999

99
-999

-999
99

-999
99

-999
99

=0
a

T AT/ A T8
==

ar

ST T/ W 8

Gifel A1/ T 718

Tt =11/ W TS

bl

B

T 1S

bl

Bl

T R

==

B

A 78

IS B R

ST =1 SIfer<R 1200 AT
TG FIRC ST AT
e
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whynowork_other (required)

whynowork_adhseed (required)

nrega_dbt (required)

nrega_dbt_seeded (required)

nrega_ease (required)

nrega_wage_fail (required)

nrega_delay (required)

nrega_delay_other

nrega_problems (required)

nrega_problemsother (required)

nrega_problems_other (required)

nrega_benefits (required)

Question relevant when: selected( ${whynowork} ,98)
140 041 RIS FIR SIS (20 6 S [0 ey 17e=1?

Question relevant when: selected( ${whynowork} ,2)

141 =511 5 SHRIR TG ARG TN FG A BIFT T 112

Question relevant when: ${nrega_work} = 1

142.9% AN SRAFIGEE i iz iz sie@ g wgae F21?
Question relevant when: ${nrega_dbt} =1 and ${bank_aadhaar_muitiple} >0

143 APRFC, SR JHNGF STHFGE AAAT SR AT ANSIR SRR F© A2 Al Foa?
T4 [t g
Question relevant when: ${nrega_dbt} =1

144 =111 5 F216 @X F1G FEA A TG ATGIR Groa SIsifel F2T1 JI20F E0Re1?

Question relevant when: ${nrega_work} = 1

145,518 =120 NM0A, FGR NG 15100 15 ezt (s T2 mifs 2eng?

Question relevant when: ${nrega_work} = 1

Specify other.

Question relevant when: selected(${nrega_delay}, 'other’)
146.5M9 9 ST (A TN FIG I AT ST < 11T T T[T B2
ST [ ST

Question relevant when: ${nrega_work} = 1

147 511 ST TR TR ST SR =T SARRROR SR SRR 2?

Question relevant when: ${nrega_work} = 1

Question relevant when: ${nrega_problemsother} = 1
148.9 MR T AR S F1er F1 7= @117 5 frmifate sfazeffer wsraferem?
ST [T G

Question relevant when: ${nrega_work} = 1

5 S A i few A,
o G =11 &

3 oif SIS s FRR
st el feetrs = [
SR 144 19 7]

4 TR AR FIRE

98 IR TrEE T

-999 Gifey =TT / W 718

99 Tuwd fite wfEes

1=

0

99 Tuwd frrs wifmgw
-999 IfeT 7/ 7 R

1 ==

0

99 e firts wIfmEE
999 wIfer 1/ T 8
1=

0

99 Tywd firre wfpgs
-999 If T/ A R

2 w=g

3 fres

4 o

99 Fwen firts wfEg
1 ==

0

99 Tgod firts wifegw
999 wifer A1/ AT 8

1 ==
0 =
-999 W= WE

99 Tuex fite wfoes
other Other

1 SR Ao FEE SR
I SIfEHT 1200F AT SEE

2 wnfs w Fet FEE ok

T S oATE oy

3 SN G Gl w2
TS amies

11 ST 8

99 Tuwd firs wfmgw
-999 ey AT / AT 12

1 ==

0 =

99 Fgws fire wifmgs

1 TG SR S Sl Fe
TS ST

2 i A @ e FEE
IR Gl SIS AT B
e

3 SN O Gl 9L
FU TS S

7 I SRl 8

99 Tued fite wfoes

-999 Gifey =TT / W 718
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nrega_benefitsother (required)

nrega_benefits_other (required)

save_reminder_4

microgeneral (required)

microproblems (required)

microproblems_other (required)

microproblemresponse (required)

microproblemresponse_other

microease (required)

microeasewhy (required)

microeasewhy_other (required)

microdiffwhy (required)

149 1511 i ST (11 41 T2 BB 21 SHREAO SR SIS 1w87?

Question relevant when: ${nrega_work} = 1

Question relevant when: ${nrega_benefitsother} = 1
TG QT TSR AT FI TR T

Question relevant when: ${consent} = 1

150.918 3 TR L, SIS 5 SRR RNGF SRIFIOE S TSl FAK G A6 [OfTbiat T e (T aF 6
ABR-ABa, SR 3-eF ) @ SR TGS B1f JA2NE FAG (T BI=wT TSTAT / S0 Gl SR Grege) 2

Question relevant when: ${bank} = 1

151 MEFA-afBas IR AT Sl Al TR =i AT Srae1?
o [t g
Question relevant when: ${microgeneral} =1

Question relevant when: selected( ${microproblems} ,98)
152, &A1 afBas R FA0S 1 10 S Sl f<F Fwaferar?
Question relevant when: selected( ${microproblems} , 1) or selected( ${microproblems} ,2) or selected(

${microproblems} ,3) or selected( ${microproblems} ,4)

Specify other.
Question relevant when: selected(${microproblemresponse}, ‘other’)

153 MfRFea, aF b TEaftas TR 0 B (ol A1 B o1 e Sl F1 [ 12w A1 9He Fo- srEe?
o st g
Question relevant when: ${microgeneral} =1

154,951 fFend T2% FNE?

Question relevant when: ${microease} =2

SR SR T
Question relevant when: selected( ${microeasewhy} ,98)
155.aB1 fFena oae Ffom arme?

Question relevant when: ${microease} =4

1=
0 A
99 Tuwa fire wfEg

1=

0

99 Tgod firts wifegw

-999 I AT/ A TR

1 SIBRIS [ ATSE FG F08
B

2 FresAPBEeE sEene
RSRES

3 FReoRPEAE Fe FE
g PoS e @2me @t

4 = farEe / wfEe wE

5 (= STET A8

98 IR BTET F

99 Gues firts wIfmEE

-999 I AT/ A 1R

1 o e/ oo & ST
IR AR sEfoffy @z
STl et FRe rafeam

2 IS G IS
SIAGTTR SFINFRT

3 aFe FEIF w1l ISR

4 a6 affax a ferafgers

5 G/ ofE / aftas Fes

99 Tywx e wifme

-999  orifer A

other Other

2 =

3 TG ARG 7 Al WG F5T
T/ T SR g

4 e Ffoa

99 Tuwa firts wifper

1 aBl S S FE Ore
IR U (AR G T2 3
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2 R Y e 73 A

3 =T Mt/ afbas 2 weg
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2F BIF UF© Bl 190

98 SR GLEaY e

99 Tuwx firte wfew
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NG B [RGB T4
Gl AFIUE AR AR B
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microdiffwhy_other (required)

save_reminder_5

user_attitudesm

TERERFEIE niEpefes
Group relevant when: ${consent} = 1

govshare (required)

privshare (required)

govbioshare (required)

privbioshare (required)

govadshare (required)

privadshare (required)

govcompulsion (required)

privcompulsion (required)

lockaware (required)

lock (required)

Question relevant when: selected( ${microdiffwhy} ,98)
TG @fTE TSR AN FI I T

Question relevant when: ${consent} = 1
TR viEPefee

Question relevant when: ${consent} = 1

156,120 S1517 QB AT AL AL SR IS G (THIS SR 1, 27, F5FIT) Sel il ©2eT affs fFema
FERER FAE O AR FNE FOB! SFOIR?
T R g

157 572 Sstfer @<F{6 (RIS (RIS AL SR RO S (WS S =11, T, 51 Stor Fawl o2 af
fFoa AT FAE O SR FE FOB! (FTOATCR?
T [ g

158 212w ST SRR S AL SR AT B ST (T, SGSTE I, SIS TL=) Sol F O
Fend aft LR FA O AR FE FOb! JFOI5=?
T A A

159 212w S151feT QB (AT I SR B SU (F, SNGS[F B+, SIS F) S5l S O FONA

aff FRER FAA O SR FNE FObI TR ?
T [T G

160.72 5T @6 AR QTSI I SR SR T SI9 F, T2 ol aff TE=E T S S S
FOBT oFeAe?
ST [T G

Question relevant when: ${aadhaar_fm1} = 1

161,572 =fe] @B R AL SR SR T Slof TR, T Aisffel fFen aff @ae@ T ©f giete SiomE
FOBT oFGA?
T [ AT

Question relevant when: ${aadhaar_fm1} = 1

1621 a3 SAF AT TS Gl TN SN AR AT, GUTRAeHRg: =Tiezielt, Hfva, e, iy

a1 TR @7 AT TEAIRE QT Gl SR ALTOTIAF F00 FAFH @ PHTS T AT ST FA1?
ST [T ST

163. 1= (AT SR SRTTFR FIE SR SR FIOLF OIAR AHAMEAS A6 FAR A e,
VIR TIRAISE CERw (TSI, TEGF| S SR AL AT SANR SR AL Gl RGO T A1
S FA?

ST [T ST

164 .51 SR ACITHCAS ST ((FT SMNGLER BI5 AL SIS ALE) & | SIEE F0O AT NS SRR Szl
FEROMAT@E a8 SIS SNl a9 ST 12| S a8 S@iE= AT SNEo-1?

165. 5T SIS AT EAF S FF / SI1<F A ?

Question relevant when: ${aadhaar_fm1} = 1 and $flockaware} =1

E\W\..

2 TEE-aftarss AUAWE T2
SIS =18 LU FII (AT

AN

3 ESBRAE / TR A=A F1e

FR AT AU ST =
98 SE TTEFAY T
99 Tuwa fite wfEgw

2 eI
3 s
4 OO Al
-999 wrify
99 Tuox fite wIEes
2RI
3 frwsEE
4 TG A
-999 wrify
99 Tuwd firs wfmgw
2 RO
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4 oFOASR
-999 wrify
99 Tuwd frrs wifmg
2 oA
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4 oFOAT A
-999 wiifey
99 Twud fie wif-pg
2 R
3 frsuos
4 FOATTE A
-999 wrifey
99 Tgod fits wifegw
2 RO
3 e
4 oFOATTE A
-999 @iy A
99 Tgwa fite wifpg=
2 SR T
3 fermeE
4 R =1
-999 wrifey A
99 Tgw fits wifpg=
2 ORI T
3 femos
4 R F=I
-999 iy
99 Tuwd fite wifpg
1=
0 =
99 Tuwd fire wf-pes
1=
0 =

99 Tuwd fite wifgw
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callback (required)

image

store_gps

remarks

thankyou

166. 51 SR T -9 SR AMF OIS S F 507 A T2pil Faeo #1f?

Question relevant when: ${mobile_hh} > 0 and ${consent} = 1

VRN FE GOOANIOR A (B BT (NG Gl SINOF Gell forg@it T
Question relevant when: ${consent} = 1

9B fafHast AT Aeo@E T
GPS coordinates can only be collected when outside.
Question relevant when: ${consent} = 1

A SR (I IO AN, SR QUM S ol F1
SR ST A3 G SANE S L=

1 ==
0 =
99 Tued fits Tfoes
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